©CoOoNOOrWNE

TRAILBGSS

Towbar Fitting Instructions

To Suit HYUNDAI LANTRA 9/95-ON

Part Number HY 8A
Rating 850K g

Ensure all hardware items have been included.
Remove interior trim from rear and side panels to expose tail light assemblies.
Remove tall light assemblies.

Remove rear bumper bar.

Remove inner bumper beam, complete with brackets, from outer skin.
Remove and discard lower centre bracket from bumper beam (two screws).
Remove and discard bumper mounting brackets.

Fit towbar onto beam and secure with bumper mounting bracket bolts.
Cut lower centre tab (the one that aligned with bracket in step 5, off bumper outer skin.
10. Refit beam/towbar assembly onto outer skin.
11. Refit bumper bar.

12. Fit plate and bolt to shipping hook mount.

13. Tighten all bolts to torque listing below.

14. Refit tail lights and interior trim.

RECOMMENDED ASSEMBLY TORQUE LISTING

Diameter Grade 8.8 Bolt

M6
M8
M10
M12
M14
M16

Nm
95
21.7
43.4
77.3
121.0
189.8

THE WORKHORSE OF AUSTRALIA’'STOWBARS

I ssue Date 27/03/03

N

~




 TRAILBGSS

Towbar Fitting Instructions
To Suit HYUNDAI LANTRA 9/95-ON
Part Number HY 8A
Rating 850K g

TACK ON
4-M12 x1.75p NUTS

ZIl-M12x4E-1.75PBDLT [

1- M12 SWASHER |
1-M12x1.76° NUT \
4M12x36-1.75P BOLT

4-M12 FLIWASHER
4 M12 SIWASHER
2-M18x45B0OLT
2- M16 SIWASHER
\ Page 20f 2 THE WORKHORSE OF AUSTRALIA'STOWBARS | | SSue Dae27/03/03

N

~




